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Time /907 : 2 Hours /902 Full Marks/quis : 300
Note/RtT: (1] Attempt as many questions as you can. Bach question carries 3 marks.

(17)

(2}

(3}

One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

siees. S WO S0 W s wl RS T 3 o W 8 WS

Em%ﬁmwmmmlmmﬂammmm
\ ]

H more than ene alternative answers seem to be approximate to the
correct answer, choose the closest one. -

;ﬁ;_mﬁmaﬁm_aﬁ-ﬂﬁmﬁﬁﬁmﬁ,ﬁﬁmmm

T

This paper comprises of Five Sections. Sections [ and Il are compulsory
whereas orly one Section out of IfI, IV and V is to be atternpted.

7 yoor vty avel W ) @ [ @ 1 R § wh
iy o @ qrd & wufs vz 11, v 3

P.T.0)
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1-"

3.

(17)

Section—I

wiEs—I
MENTAL AGILITY
(Compulsory for ali)

Term ‘Grey Revolution’ is concerned with

(1) milk production (2) wool production

(3) fish production - (4) horticultural crops

ez ‘gt R’ e A R mrafRa 7

{1) g% Jred (2) S 3T (3} He IUled (4) ®eT Ir9TCT

A certain mumber of halls can be divided equally among 2, 3, 4, 5,6 and 7
players. What will be the least such number?

@wﬁ%ﬂﬁﬁf2,3,4,5,ﬂqﬁ7ﬁﬁnﬁﬁﬁw--waﬁmm%!3ﬂﬁ
A Frae g w= Ei?

(1) 400 (2) 840 (3} 420 {4 12

In which of the following sectors, the maximum quantity of water is consumed
n India?

(1) Domestic work | (2) Agriculture
{3} Industry (4) Hydroelectric projects
ara & B & few o F T 1 vl e wen e A R0
(1) e F 2) PR
(3) T (4) el el §

2
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4. 125% can also be written as

an

125% %t Rer & & 5w wom Wt foren s worar 27
(1) 12500 (2) 12:50 (3} 1250 (4) 0-125

If CHAIR is coded as XSZRI and ABOVE is coded as ZYLEV, how EVERY will be
written in above code?

I CHAIR s frmr T @ XSZRI o ABovE. 5. R wrar 8 ZVLEV @, @
#ft #1e ¥ iy § EVERY ffm we 3 R smm?

(1) WEVIB (2) VEVIB (3) VEBIB (4) VFVIB

In certain code .la.nguage ‘hot filtered coffee’ is written as ‘123?, ‘very hot day’ is
written as ‘356" and day and night’ is written as ‘989’, how will ‘ very* be written
in that code?

I firft 3 e o hot filtered coffee’ T 123’ S 2, ‘very hot day’
# 356’ forar W @ @91 ‘day and night’ ¥ 5897 S @ gz wm
3 i # s Sow.seime

3 ‘very’

(1) 3 (2] 6 @) s 4) 1

A person starts walking i the North direction and travels S km then he turng
to his left and walks 10 km and then he turns to his left and “overs @ distance of

5 km. How far is he from his starting point?

t e e e sy

@mwwméwgﬁfﬁﬁﬁf&-&mEﬁmi,aaagm;ﬁ
wmm-amamm,ﬁ,ghﬂwg,_ﬁwzmmﬂmmg

3 5 km e A oW 9 S yeome A W @ Ferk o g
(1) 5 km {2) 20 km. Q10 km (4} 15 1

PTo)
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10.

11.

12,

(17)

In a row of 40 students Mahesh is twentyeighth from left and Suresh is
twentyfifth from right. If Dinesh is sitting just exactly in betwen them, what will
be the position of Dinesh from left?

40 BE A oA § gl e 8 Ry A AR 2sd W w ? aw g & A
T T B 254 wm w A aR Ry i Tl @ & fogw e d R, & v
I oA H o9 H e ead ui gely

(1) 24 (2) 22 (3) 28 (4) 23

A is mother of B. C is son of A. D is brother of E. E is daughter of B. Who is
grandmother of £ 7

g,aﬁﬁﬁlaamﬁ'ﬂ%ln,ﬂmﬂﬁ%l E, B #t offt 21 E ¥ T& w1
"

(1} A (2) B 3 c 4) D

Pointing towards a man another man said  he is the son of my father’s sister”,
then what is the relationship between them?

(1) Father-Son  (2) Brouther (3) Cousin (4) Uncle-Nephew
w emeh ol U FE LW GW wSh A ww T W few B owe wE R
w @R F @ el § i 8w w27

) f-ma (@ W (3) TET 9 (4) S-S

Which ol the following words will come fourth in the English dictionary?
frafoRen seel & @ F-w yg i wegewta § Sten gbm?

(1} False (2) Follow (3) Faithfully (4) Fallible

In the following questions if the given statement is true, then among the three
conclusions which is correct?

Statement : F €T, T>E, E<R
Conctusions : () R>T, (i) R<T, (l) F<E

(1) Only (I} 1s true (2) Only either {I) or (i) is true

(3) Only either (1) OT i ™ "‘“"I C1 ALy 1Y) s true
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e & ofq R w0 oot @, ot aftfs Pesd & w0 ol R7
9% : F<T, T>E, E<R
et : ) R>T, ) R<T, () F<E
(1) ¥ () 6 ? | (2) I A () T (1) & 2
(3) Faw @ R () T () w2 (4) F= (1) 9@ ?
13. Which of the following words will come second in the English dictionary?
Frfiiem el § & F-w ww sk wmww § gww dmo
(1) Magical (2) Magnify (3) Maternal ~ (4) Magnetic

14. There are a sequence of four figures following some pattern‘as given below :

S AT Rt TR, 4 Rt Rechww i R R ¥ .

(01 |®

What will be the fifth figure in that sequence out of the following?
IWE 704 53 WA W B A & g

noach

M )

(1 @ (2) () {8y iy~ 4 v

(17)
P.T.0)
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15.

16.

17.

18‘

19,

(17)

Iin which of the following animals has teeth in its only one jaw?

(1) Elephant (2} Cow (3) Donkey (4) Rat
ﬁmﬂ%ﬁ:ﬂm%mﬁamﬁaﬁmﬂmi? :
(1) =t ' (2) M (3) Tem (4) gt

Which of the following crops is also a source of edible oil?

(1) Pealrl millet  (2) Wheat (3) Maize [4) Pea
frr § frw wew @ @@ aa =1 i 39 R S 87
(1) =T {2) ¢ (3) wET (4) T

‘ackE’ is related to ‘hdF’ in the same way as ‘ fhJ’ is related to which one of the
following?

‘ackE’, ‘hdF* & I ' TEfiw 2 98 <ty B @
(1) dpH (2) fhL (3) ghK (4) giK

Income of A is 25% more than the income of B. Income of B in terms of income
of Ais

AW @i D6 E 25% wiftrs 8| B 1 ot A ¥ wRaag # fm d = 27
(1) 75% (2) 80% {3) 90% (4) 100%

1 the radius of the base of a cylinder is halved, keeping the height same, what
will be the ratio of the volume of the reduced cylinder to that of the original?

Mﬁﬁa%mﬁﬁwm}ﬁmﬁﬁmw,wmiﬁﬁﬁ
ﬁm:mm,ﬁmﬁﬁﬁﬁm%-m@mﬁm
i P # I €Y

(1) 1:4 (2) 4:2 3) 2:5 4 1:5
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21.

a7
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Find the missing number in the following series :
e Saen § @Rt W ® R T Eme
5,9, 17, 33,—, 129

(1) 53 (2) 59 (3) 92 4) 65

In the figure o represents shopkecpers, A shows custormners and
represents farmers, how many are all these three?

fimr fm it (O gomer, A wlqR @[ | el @ wRRfAT war §, W TR

w g R € o wft A €7

(1) 2 (@3 (3 4 @ s

The length of a minute hand of a clock is 14 cm, What will be th
by the minute hatid 1 GRE T 2 el VehaLw € area covered
w v@ # B f g A e 14mﬁl_ﬂ_ﬁaaﬁﬁqza%q§ﬁ=;ﬁ

: s , g

s i 4
(1} 14 em? (2) 7 om* (CRI mé G

(P.T.0)
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23.

24,

25,

(17)

If ‘eye’ is called ‘hand’, ‘hand’ is called ‘mouth’, ‘mouth’ is called ‘ear’, ‘ear’ is
called ‘nose’ and ‘nose’ is called ‘tongue’. With which of the following would a
person hear?

(L) Eye (2] Mouth (3) Nose {4) Ear

W s W e wwoaw, T oW Y w0 oW, P ® w s o,

gaﬁﬁm'maﬁw‘m'ﬁ‘ﬁm’mqﬁ,?ﬁ@mﬁn#ﬁﬁmﬁ
7

(1) st 2) 4% (3) T (4) FH

For sowing of which of the following crops, its stem is generally not used?

(1) Potato " - (2) Sugarcane  (3) Onion (4} Ginger
fm 4 2 e wmm i g ¥ R amee: 3% o @ wn w20
(1) Hr (2) =T (3) = (4) T

On the basis of ‘Shak Sambat Panchang’, the third month of the year is

(1} Chaitra [2) Paush (3) Falgun (4) Jaisth
‘Y T 99T % oEn | @ dimwu wdiw P @ - 27
(1) o (2) o (3) W (4) <18

8
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a7,
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Section—I1
g eI

CHEMISTRY
{Compulsory for all}

When an ideal gas undergoes unrestrained expansion, no cooling occurs
because the molecules

(1) are above the inversion temperature

(2} exert no attractive fqrcga on each other

(3) do work equal to loss in kinetic energy

(4) collide without loss in gnergy

T w ard M sl ww R e R, v s ST A v Wi R
wif ageit w1

(1) ST TE F IR BT R

(0} -z T s Wt G
(3) e F & WA F WK T F@ 3

@) S % wm & B e ¥

The number of radial nodes in 3s and 2p dl:i;itals respectively are
(1) 2 and O (@ 0and 2. @pdremd2- - @4 2 and 1
3s 3R 2p wgit § frem St dew T 2

(2o  <2aoada 431 ] 3R 2 (4) 2 v 1

9
{P.T O
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28.

29,

30.

31.

32.

17

The electronegativity of the following elements increases in the order

F4 § w53 wu Prakled ot A Rga Homerw R
(1) C,N, S, P (2 N Si,CP (38,PCN @@ PSLNC

Among KO,, AlO;, BaO, and NO}, unpaired electrons are present in

{1) NO} and BaO, . {2) KO, and AlO;

(3) KO, only {(4) BaO, only

wfig ww A9g 79 §, KO,, AlO,, BaO, iR Noj = H
(1) NO, ¥R Bao0, 2) KO, % AI0;

(3) Fa9 KO, (4) ¥ BaO,

The species having bond order different from that in CO is
co ¥ fm v ¥ Bl & ey F9 O IW ¥
(1) NO~ (2} NO' ~{3) CN~ 4} N,
The compound that is not a Lewis acid is
A, St g o A R
(1) BE, (2) AlCl, {3) BeCl, (4) SnCl,
Far the reaction
CO(g)+H;0(g)= CO,(g)+Ha(g)
at a given temperature, the equilibrium amount of CO,(g)can be increased by
(1) adding a suitable catalyst

(2) adding an inert gas
(3) decreasing the volume of the container

{4) increasing the amount of CO{g)
10
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il & forg
CO(g)+H,0(g)= CO,(g)+ Halg)
Ru T AW W CO,(g)  Tramen ) WA w9 I T @
(1) T o B R (2) PSR W A R
(3) TE ¥ AR F HR (4) CO(g) T R TgER

For an endothermic reaction, the minimum value for the activation cnergy is
(1} less than enthalpy change (2) zero
{3) more than cnthalpy change {(4). equal to the enthalpy change

w Tt iR & R, whsgar s w0 oiftmew Am g
(1) adr miar & w 2) =
(3) Wi i ¥ s (4) ot enfen & s

Consider a reaction aG + bH — products. When the concentration of both the

reactants G and H is doubled, the rate ey wight times. However, when
the concentration of G is doubled keeping the concentration o H fixed, the rate
doubled. The overall order of the reaction is

affFn ® RER R _gG+bH » FR @ G 3 K 3 st B wwm
2§ R, ﬁﬁﬁ"ﬁ%@mﬁhﬂﬂmﬂﬂwaﬁ@t
Mﬁmﬂm o ¢, @ W R A @ T Y SR @

AE F B
(1) 0 ~@rs 32 @ 3

11
(P.T.0,)
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35.

37.

(17

0-004 M Na,S0, is isotonic with 0.-01 M ghicose. Degree of dissociation of
Na,S0, is

0-004 M Na,80,, 0-01M WFW F md ww@dt 3| Na,S0, F Jusmw
T R

(1} 75% (2) 50% . (3} 25% {4) 85%

Nitrogen dioxide cannot be obtained by heating

AR TR TR snetiverss W o fer o wwan?

(1) KNO, (2} Pb(NO,), (3) Cu(NO,), (4) AgNO,

B{OH), + NaOH = NaBO, + Na[B{OH)}, |+ H,O. How can this reaction is made to
proceed in forward direction?

{1) addition of cis 1,2 diol {2) addition of borax
(3} addition of trans 1,2 diol (4} addition of Na,HPO,

B(OH); + NaOH = NaBO, + Na[B(OH), |+ H,0. T8 siftfwa =t &8 am agrm w1
e e

(1) cis 1,2 Sl STg & (2) sEw Ny W
(3) trans 1,2 A HNE (4) Na,HPO, §g W

The bonds present in N,O, are

(1) only ionic (2) covalent and coordinate.
(3) only covalent (4) covalent and ionic
N,0; # fm o J9@m ¥
(1) ¥ S . (2) W @ W
(3) ¥ REATI (4) TEEE T AR
12
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Spin only magnetic moment (in BM) of the compound Hg{Co(SCN), ] is
HgICo(SCN}, | e ®t werfw woix (BM ) Rt wr g o1 & ¥7
1) 3 @5 @) V24 (4 V3

Native silver metal forms a soluble metal complex with a dilute aquecus
solution of NaCN in the presence of

frad Jofeufy # NaCN ¥ W sl 91 & o 20 % wg = = gora
ug R T S 27

(1) N, (2) Og 3 €O, @ A

When MnO, is fused with KDH a coloured compound is formed, the product
and its cnla'lir aré

(1) K,MnO,, purple (2} KMnO,, purple
(3) Mn,0,, black (4) Mn,0;, Brows:

o Mno, KOH % W ugs ¥m 8, @ ¥ v M = fufo g 2, i ok
W TR

(1) K;MnO,, ®5 (3) KMnO,,. #mh

(3) Mn,;0,, ®mEN (41 Mn,0,, U

Among the followirig, tve-mest basic compound is

(1} benzylamine (2} aniline (3) acetanilide  (4) p-nitroaniline
Rrfien § 3 9 w8 g difis 47
(1) e (2 - T Wtz ) p-

3

mtO:j



17U/102/25 Set No. 1

45.

{17)

2-hexene gives trans-2-hexene on treatment with

frer 4 @ s wu sfifien a0 W 2-Rwen, giE-2-deEm @ 7
(1) Li/NH, (liquid) (2) Pd/BaSO,

(3) LiAIH, (4) Pt/H,

The order of reactivity of the following alkyl halides for a §,, reaction is

Frfoflga srewme demegm 1 @ 5, ofufea & R sfifrardea & o T
ik

(1) RF >RCl>RBr>RI (2) RF >RBr>RCl>R

(3) RCI>~RBr>RF > RI (4} RI>=RBr:>RCi>RF

The heat mathnad +a DreDaTe r:,rﬁlnhp’rﬂﬂl? from L’YC'IG]’]E‘XG.I’!GI is b}" using

TR B ORAEtaed 49 0 # §E ool alel e% v e &
g &7

{1} conc. HCl + ZnCl, (2) conc. H,PO,
(3} HBr (4} conc. HCL

The compound that will not give iodoform test on treatment with alkali and
iodine is
(1) acetone (2) ethanol

(3} diethyl ketone (4 isopropyl alcohol

14
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Fedeh 2 adE B oongdeld uhew i whlEn w0 w B-w @ @ W
37

(1) T (2) TamTE

(3) TTEEoE e L (@) SIS e
Benzamide on treatment wiﬁ POCl, give;

(1) aniline (2) benzonitrile

(3) chlorobenzene 4) benzylamine

¥9PE W POCl, % WY JRfRT #3 W 3 2
() iR (2) TR (3) FNARA  (4) oo

The compound that is most reactive towards’ electrophili suhatitution is

(1) toluene {(2) benzene (3) benzoic acid (4) nitrobenzene
W Thwu f s TER W afufete de
(1) 2 (2) e @ S BE @) TRERE

In the Cannizsaro reaction .
2Ph—CHO —F 5 Ph—CH,OH + PhCO;

The slowest step is
(1) the attack of -—@H.a4 thg carbonyl group
[2) the transfer of hydride to the .carbonyl group

(3) the abstraction of proton from the carboxylic acid
(4) the deprutunaﬁ;}-ﬁm;tiﬁ

15

(P.T.0)
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et sfafE §

2Ph—CHO —%— Ph—CH,0H + PhCO;
oy o o R
H)‘Flﬁ'-ﬁﬁa‘r%—oﬁﬂaﬂﬁﬂﬂl
(2) TS ¥ FHEAA q9 T AR
(3) Tl T | WA = gy
(4) Ph—CH,OH #1 gmiziism

50. Two forms of D-glucopyranose, are called

(1) enantiomers (2) anomers

(3) epimers (4) diastereoisomers

D-TEe &% & w7 #2 99 &

(1) wefRemn (2) wind (3) wdmet (4) SARTERITRET
16

(17)
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Section—III
| eIl
BOTANY and ZOOLOGY
 (Botany)
51. Which ane of the following is a monogenetic parasite?
(1) Taenia solium {2) Ascars
(3] Fasciola hepatica (4) Plasmodium vivax
e # 4 97 w dNRRRe w27 |
(1) R Siemn | (2) wHw
(3) Sfeier it () e IET

53,

a

Which ecological pyramid is always upﬁght?
(1) Pyramid of number

(2) Pyramid of biomass

{3) Pyramid of energy

(4} Both pyramid of humber and energy

ﬂa—mmﬁiﬁﬁﬁﬁ%ﬁzaﬁam@m??
(1} e wr Ftfs 9 AL I
(3) S w1 Mg (4) ¥ W@ I o & R

Acid rain is caused by |
(1) €O and 00, {01007 wnd.0;. (3) 50, and NO\—(8) NO, and o,
seiiy el s S 2L ‘

1) cow co, @800 (3 so, W NG,

52 ) NO, w 0,

.10,
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54. Phyllode is modification of

(1) petiole (2) stem (3) petal {4) lamina

freirs fra woR 27

(1) ol (2) 0 (3) FYH (4] Qb
55. Head or capitulum in%rescence is found in _

(1} wheat’ {2) sunflower (3) mustard (4} onion

¥ o Firgem qooes et 9En STl 27

(1) (2) et (3) T (4) @

56. An organism used as a biofertilizer for raising soyabean crop is
(1) Azotobacter (2) Azospiriltum {3) Rhizobium  {4) Nostoc
A B vaw F R e W ¥ w0 w e @ O A f
(1) TRRER (2) Teedew (3) e (4} ATIF

57. Which one of the following is not a micronutrient?

(1) Boron (2) Molybdenum (3) Magnesium {4) Zinc
frg & & S9-91 TF gEAUeS T 87
(1) = (2) wifefeem (3) HaRmm (4) T
58. Which one of the 'fﬂllgwiné insectivorous plants is also known as ‘sundew
plant’?
(1) Nepenthes (2} Drosera (3) Utricularia (4] Dionaca
fer # R fow o Powh 9 F w9 T Tt 9 F WA oA aw
s 87
(1) FrofE (2) B e ARSI (4) s
18

(17)
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Which group of three micronutrient elements is required for both
photosynthesis and mitochondrial electron transport?

e W % i geeivs o A9 when vEnEwm ot meewRe e
o ¥ o smawe A7

(1) Cu, Mn, Fe  (2) Co, Ni, Mo (3) Ca, K, Na  (4) Mn, Co, Ca

Prolonged liberal irrigation of agricuiture fields is likely to create the problem of
(1) acidity (2) aridity {3} salinity (4) metal toxicity

T T A g gt § g ot fed w0 2 R owe B owen s
w7

W W g (3w (4) P
Which of the following is a saprophytic angiosperm?

(1) Neottia (2) Eucalyptus (3} Cuscuta (4) Agdricus
frer & 3 0% ggione .2

(1) Fiifen E (2) THferem

(3) T (mrem- @) Tt

Sandal wood oil of ‘Santalum album’ is afan

(1) edible oil (%) essential oil (3) liquid oil | (4) None of thege
A ) W A Rew o ¥
(1) @ o= A~ AN 43 ST, @) QY 3 £

Pungent smell of mustansd, Qil is due to sence of g
compound s slphur containg g

(1} Allyl sulphidtct@jmimgsia...  (3) Parthegin

19
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(17

gz TeYE ww ¥ & § Wl uvege 9% @
(1) wEgE avergs  (2) fia (3) TREfA (4) oA

Companion cell is found associated with sieve tube cell of
{1) pteridophytes (2) gymnosperms (3) angiosperrz  (4) Bryophyta
TF FMfirg o Sl AR S 9gE w9 @ 98 IR

(1) e & () Reled § (3) smaadst & (4) sHTeSa ©

The osmotic pressure of 0-1 M glucose and 0-1 M sucrose solution are the same
because

(1} both are carbohydrates
(2] these are different compound having different molecular weights
(3) both are present in the same concentration

(4} ghucose is reducing sugar while sucrose is non-reducing sugar
01 M T RERT # 3R 01 M gH e % Wl 7| g9 § Wi
(1) 3 FEEg

(zlﬁm_mmmmmﬁﬁwm-mﬂ%
@) 3 @ I W W
() e Yeafer T R, T T AR = e

20
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66. Test cross invoives

(1) erossing the F, hybrid with a double recessive genotype
(2) crossing between two genotypes with dominant trait

(3) crossing between two genotypes with recessive trait

(4) crossing between two F, hybrids

%eﬁqmﬁmt

(1) F, m#mmmmm

(2) & “fHteree & s wwm % Aw =i

(3) a wititereT @ omwri-om & Wy wig -

(4) A F, 9 & 49 #ﬂ

67. Munch’s mass flow hypothesis explain
(1) water flow in xylem |
(2] horizontal flow of water from cortex to xylem
(3) t:analocauon of solutes thruugh phinem
(4) absnrpﬂun of 'water by roots |
T9 8 veit e Reer dm A
(1) Ve § 9o SRR,
2) OfF e o T wew ¥ wwew @ o
(@) wirm (drvares) g Rl SO
(@) T T I Rer

1 2
ull P.T0o)



17U/102/25 Set No. 1

68,

69.

T0.

T1.

(17)

When stomata open only at night they are called

(1) Photoactive  (2) Scotoactive  (3) Nyctinastic  (4) Helioactive
o WiaE (TH) A ge dw #) s® ww s @

(1) Brenefiea (2) Wi (3) A (4) ¥eafTea

According to enzymatic theory to explain stomatal movement, which of the
following enzymes is associated with starch = sugar conversion?

(1) Phosphorylase (2) Aldolase
(3] Amylase (4} Invertase

TR g % sgen Wi (vul) # AR fm & } R oerR B EEd |
wH = whu fafam g 87

(1) SRR (2) T (3) TR (4) TS

Which products of Hill reaction are used in Blackman’s reaction?

R sl & e T &1 YOI seea il & T s 27
(1) ATP, NADPH (2) ATP, NADH (3) ADP, NAD  (4) ATP, NAD

3PGA is first stable product in

(1) carbon-reduction cycle (2) CAM
(3) glycolysis (4) Krebs’ cycle
apGA W T e fE g7
(1) E- T T (2) CAM
3) TR (1) ®%
22
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72. Spirulina is rich source of

(1) protein (2) fat (3) vitamin (4) mineral
wreierr & Rl aftmen o &7
W @) @ PR @) @R
73. Saffron is obtained from
{1} Cocos nucifera - () Joeris amarg,
" 13) Crocus sativus (4) Costus speciosa
W w8 ww e w7

1) #%% by (o) ke s ) #7g FIH  (4) e St

74. Which enzyme .is called molecular scissor?

(1] Restriction endonuclease (2) Ligase
T | {4) Zymase
W T apeR de w7
(1) BT TR () www
(3) s @ TR

78. Link between glyml}rs:.n and Wrahe? arenl- I_

- (1} citric acid (2} umaric acid’ (3) succinic acid

TR T s bl D e b
(1) B o0 ) WD (o e @ @R coa

(17) 23

4) acetyl Coa

(F.T.0}
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(Zoology)

76. Which one of the following sequences is the correct hierarchy of classification?
(1} Kingdom, Domain, Phylum, Order, Class, Family, Genus, Species
(2) Domain, Kingdom, Phylum, Class, Order, Family, Genus, Species
[3) Genus, Species, Kingdom, Phyham, Order, Class, Family
(4) Domain, Phylum, Kingdom, Genus, Species, Family, Order, Class
B @ 2 w0 i@ & g6 FH 27
[limﬁmﬁm-ﬁﬂﬂﬁﬁﬁﬁmtmm
(2) woa-8%, W, I, g, s, TRER, T, TR
(3) W, yew, W, S, S, af, TREn
(@) TR-8, S, TR, &, ybR, YR, ¥H, o

77. The first land vertebrates—the amphibians, developed during the
(1) Cambrian period (2) Silurian period

{3} Ordavician period . (4) Devonian period
W@W*&Wﬁﬂ%ﬁﬁﬂfﬂﬂ@ﬁ%?

1) ¥fFem w1 (2) WIS F
(3) AR F @) SRR
78. Who amongst the following wrote the Essay on the Principle of Population in the
year 1798 7
(1} Charles Darwin (2) Jean-Baptiste Lamarck

(3) Hugo de Vries (4) Thomas Malthus

24
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81.

17

% 1798 % PefetRag 4 ¥ B9 Essoy on the Principle of Population foran 417

(1) el TR (2) SR T

(@) & & g | (4) dfv T

Which one of the following refers to a Choilate bat HOt to & Fertebrate?
{1} Labeo {2) Columba {3} ﬁmpl;ucmm.{#;‘ Hemidactylus
frfafie 3 9 PR dwpd 7 2% Chordate %8l wrar 87

(1) o (2) Hrewn (3) s (9 Wikwwem
Malpighian tubule of insects is

(1) a digestive organ (@) a circulatory organ

(3} a respiratory organ {4) an sxgrelony-orgeo.

Fiz ) wefrr T ©

(1) T () el @ W E (4 S99
DNA matching has shown th=t hiimans :agg_.wt*ﬁ“m

(1) Chimpanzeed™{z Gorillas {3) Gibbons
Bowioto TR I AR §
(1) fromch & () " & (3) Prgm. - @) TEwR
Pacdogenesis refers to

(1} early development of gonad

(2} vetention of rudimentary characters in adult form

(3} retention of larval character in adult form

.....

. E:‘H _Rhesus monkeys

-

-

(P10}



87.

(17)

MRaiRF T B At W 7

(1) 60S + 408 Trgwmgat (2) 508 + 308 oyl

(3) 408 + 305 Iovwryat (4) 508 + 408 It
The class of proteins that mark the foreign proteins for elimination are
(1) transporters (2) repressors

(3} hormones (4) immunoglobulins

T & e Ry 87 9 ke vt il g o 8

(1) g () ) form (amw)

SR Ly (4} W

Minute to minute regulation of Ca** in adult hugen is done by
{1} calcitonin | (2} parathormone

(3) vitamin D, o (4) giucagon

mmﬁ&“ﬁ‘!ﬁg@ﬁﬁm%mﬁmm%?
(1) ¥R . (@) Swmi @) Al D. 4y e

The carrying capacity.of.a.population is determined by its

(1) natality - (2) mostality

(3) limiting resources {4j growth rate

T & e e Rl B g b

()™ AR . I3J“ﬁw-“‘ﬁm

P.T.0,)
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89, Which one of the following statements is correct?
(1) Glycolysis and oxidative phosphorylation take place in the cytoplasm

(2) Glycolysis takes place in the cytoplasm while oxidative phosphorylation
occurs in the nucleus

(3) Glycolysis takes place in the cytoplasm while oxidative phosphorylation
occurs in the outer mitochondrial membrane

{4} Glycolysie takes place in the cytoplasm while oxidative phosphorylation
occurs in the inner mitochondrial matrix

frfoiftad wuq € @ @ W@ BT
[l]ﬁﬁﬁﬁﬁﬁlﬁﬂmaﬂﬂﬂ%ﬁﬁmmﬁm%
m‘mﬁmﬁ“w&ﬁm%mﬁwﬁﬁ%ﬁamﬂﬁmmﬁ@W%

f&mﬂﬂﬁfﬁﬂmﬁ@m%aﬁ%aﬁmﬁﬁﬂmﬁ@mm
TeaEa o # R

90. Which one of the following is a terminator codon?
frefirfye T R B T HEA R7

(1) VAG (2) UAC (3) AUG (4} GAU

91. Acid hydrolases are packed in the
(1) mitochondria (2) nucleolus

(3) endoplasmic reticulum (4) tysosomes

an 28



92.

(a7
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TEGIERE 9 W T 2 |

(1) a3 & ' (2) qfFsiey §
(3) TR Hegewm A (4) e
Vitamin B,, deficiency causes

(1] pernicious anemia (2) pellagra

{3) beriberi (4} xerophthalmia
G B, # #f % T 7 -t 47

(1) Wi st (2) e

(3) MR (4) R

Polytene chromosomes are found in
(1) salivary glands of dipteran larvae
(@} occytes of vertebrates

(3] bone marrow of mouse

(4] liver cells of man

I I o  §
(1} R ol & wremify & 2) ¥d % R i
(3) & ¥ Sy wor % {4) TP -
(1) Spermatogenesis —‘-’J-L.aamgtogﬁeaja
i is @ melggis
3) spermiogenes -
29
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95.

90.

97.

Wﬁwﬁﬁﬁﬁmmﬁmm%
(1) wEEIRE  (2) HdeaRE (3) wPEARE  (4) femifaa

The pyramid of biomass is inverted in

(1) freshwater ecosystem (2} forest ecosystem
(3) grassland ecosystem (4) Tundra

artme & fofe 3o I R}

(1) A v aifERd () & uffeufyd ®
@) qUV wREaR # ) g5 8§

Which one of the following interactions will net promote co-evolution?

(1) Mutualism (2) Parasitism

3) Interspecific competition (4) Commensalism
P @ @ e e TR A o T I
(1] SRR @) g

(@) Ferifufem R (4) SHATCTSH

The Watson-Crick DNA structure is also referred fo as
(1) A form (2} B form {3} Z form (4) D form
e -fed FowFole T H R 2

) A s oh tz]Bm‘ﬂ (3} ZFFR W (@) D W @

30
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100.

(17}
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Which one of the following acts as an electron donor to the electron transport
chain in mitochondria? :

(1) ATP (2) NADH (3) 0, (4) Pyruvate

Wﬁmm%ﬁﬁ%-t-mﬁmﬁmm
T EY

(1) ATP (2) NADH (3) Qg4 (4) e

Estradiol is synthesized mainly by the.
(1} thecal cells (2) granulosa cells
(3) lateal cells (%) otremal cells

| TR W WO et e @ R w2

(1) T Fifmmed @ (2) e Rt ]

(3) g™ Pfiwet 3 (4) Te SRmeT &

Bilirubin and biliverdin are derived from

(1) haemoglobin (2) angiotensinogen - -

(3) globulin , 4) acta -

faferefm < fafmefds wm B 2

(1) ¥ 3 (2) R RAT 3

(3) wigfem @ M uRTy
- -

(P.T.0)
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Section—IV

GBIV
MATHEMATICS and PHYSICS
(Mathematics)

101. The value of
—a® ab a.c'

ba -b* be
2

‘ac bc -c¢

is

—a? ab ac

ba -b% bc| T WH ?
Iac be —c?

(1} 4abc (2) a?b?c? (3) 4a’b’c? (4) abc
: | o
102. If A is a non-singular matrix of order.3 and | A|=4, then value of [A | is

aﬁﬁﬁwﬁﬂmzmaﬂﬁ(m)a%wm1=4,a‘1m"|aﬂ
o 2

4} 64
) ; @) 16 @) 9 )

03, IfA={123} and B =1{x y}, then total number of relations from A to B is
103, ={L 4 |
o A={, 23} T B={xyh @ AR B ¥ wdt H wd wew 2

{1 6 (2) 8 @ 9 (@) 64

32
(17



104.

10S5.

106.

107,

108.

(17)
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The value of tan 75° + cot 75° is
tan 75° + cot 75° 1 HF 2
(1) 4 (2) 2. (3) V3 +1 {4) ¥3-1

18

sin A+sin B=a and cos A+cos B =p, then the value of tan[A+E) T

AR sin A+sin B = W mﬂ+mﬁ=ﬁ, Ll ta.u(A;B) A

(1) op (2) o +p @ 2 (4) «-p

P

The value of ,f2'+ 1f§'-1-'1§'+ﬁm'3; is
‘!2+1H2+1[2+2mﬁ &l HH 3

(1) cos® (2) 1+cos® (3) l-cosé - . ) 2cosd

b T L
L4F

The least positive integral value of n for whick E i

n % ﬁ:ﬂﬁﬂmmmmm% F@z[;{—:]n 1 WA afas gy
1 8 @ 1 @ 2 @ 4

If @ and b are roots of the equation x? + x+1=0, tﬁenﬂthc value of a2 + b2 i
R o 3 b WHE K FI T TG ¥ W WAty 2

(v i 4) -2

33
{P.T.0)
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109. Three persons enter a railway compartment. If there are 5 seats vacant, in how
many ways can they take these scats?

3m@m%ﬁﬁﬁﬁmmﬂﬁwﬁ%ﬁﬁszﬂ%w%,ﬁl%ﬁmm
¥ o ftd w @3 g €7

(1) 60 (2) 20 (3) 10 {4) 15
110. The sum of the serics 1° +32 +5% ¢+ to n terms is
Joft 12432452 4. % n W T G ¢
(1) nin+lj @) n(2n-1)(2n+1)
2 3
n(2n+1y g (20410
(3} —3 (4) 3

111. The value of

sin x —Ccos X

limﬂ =
I-F; x__‘i
15
l‘l'-“}t smx-Tsx = 99 2
x-lrz x..z
(1) 0 Q) 1 (3) 2 @) 2
34
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112. The value of k for which the function

k% fra 9w % Riw v
kcosx if x#i
flx)=qm-2x"" "2
3 L,if x=2
is continuous at x =~ 7
=1‘2.: W T 27
1 2 (2) 4 (3 6 (4) 8
118. The derivative of tan'l[ m's_x. J is- |
1+sin x
'1[ SBX |\ = wwwem 2
1 1 1
1 ot el
(1) o (R). tan x 3 2 (4) 3
114. The derivative of log tnn(": ‘EJ i
bgtan(%+§} 1 St 4
(1) cotx (2) sec x (3) tan x o 1
—————
tm(£+f
4 2
(17) 3
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115.

116.

117.

118.

(17

The volume of spherical balloon is increasing at a constant rate 25 cm® fsec. The

rate of change of its surface area when its radius is 5 c¢m is given by

& TR TER H 9 25 om®jsec B R W F wg W R}, @ wE IE
§I%0 & HgA o 9T § Jaih J9H YA 5 cm 27

(1) 10 cm?/sec  (2) 5cm?fsec  {3) 8 cm?/sec  (4) 12 cm®/sec

The maximum value of function f(x)= 2x3 —24x+107 on the interval [ -3, 3 |is
W [ (x)=2x° -24x+107 F HFAH AW < [-3,3] H 27

(1) 139 (2) 130 (3) 140 (4) 125

The function f{x)=2x® +9x* +12x +15 is decreasing on
G f(x)=2x° +9x? +12x+15 T B WA B

1) {1 2] (2} [2, =) @) [-2-1] (4) (- ~2]

18

dx
The value of jx Y

dx
|

xvx® -1

H WA €

(1) %Sec_l x+c ) tan™ x® +o

1 13 v e (4) sec™ x+ ¢

(3 Ftan

36
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120.

121.

(17)
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The value of I:E 42—:{:2 dx is
[ Vo—xFn = am &

. Ll b
(1} = ﬁﬂ"“ o (3) 2 _fﬂ iy

’I‘heareaofhmmdedmﬁmb:tween_;h:]inex=2andpamhulay’=axis

W Fsauwnis @) 22 aqunits 9 & oqunits (9 B sq units
g 3 3 3

TRy = 8x T FERE x=2 ¥ Rt € R W dww 2

U N R O Ty Lt o

The degree of differential equation

_q, c
y_f'?x+ﬂ_f,_!
-
is
(1} 0 (2) 1 (3) 2 1) not defineq

.
me:m&ﬂﬁﬁ{m)ﬁ
dr ¥
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122. The equation of curve passing through the point (11} of differential equation
xdy=(2x* +1)dx, x#0 is

W[Lll}ﬂmaﬂaﬁmﬂmwwammmm
xdy =(2x% +1)dx, x#0 §7

(1) y=2x%+log|x|+¢ (@) y=x°+log|x|

[31y=x2+lngx+c (4) %=x2+lug|x!

i ok :
123. Solutions of differential equation —!’1+y5ec:c=tanx is
dy 3.
o] FHE —= + y sec x =tanx W

(1) y=secx+tanx+x+c (2) ysecx=secx+tanx+<c

.{3] y=ScCx- fanx+ X +c (4) y(secx+tanx)=secx+ianXx—Xx+c

124. Standard deviation of first n natural numbers is

Mn%ﬁﬂ?maﬁﬂmﬁ?ﬁ(smﬂm%

&
2y n® -1 n+1 4 nin+l}j(n+2)
(1) "'12 @) 1f & @ = (4) =

The variance of number of heads in two t0SSES of & coin is

@ﬁﬁﬂﬁﬁmﬁaﬁm@imﬂ)ﬁmmmwm

125.
L 1
@35 @ @) 1

1
(1) ;'

(an



126.

127,

123.

129,

(17
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(Physics)

IfG candh-m-thc-ﬁmmmlcqnstant, then the unit of time is expressed as
ﬂﬁG,cmhwﬁﬁﬁﬁ-,ﬁmﬁMﬁmﬁwrm%

1) J—’;’t ¥ J? @) [—%“—] ) hGe?

Lo

A projectile is thrown with an initjal velocity ufﬁ=(p?+ g Jims™, If the range
of the projectile is double the maximum height reached by it, then

Emmﬁm%ﬂﬁ=[p?+q}]ms‘1ﬂﬁmmaf'§:‘ilﬁﬁqmmmﬁﬁﬂ
S w1 g R, @ n
(1) p=2q (2 g=4p (8) g=2p 4) g=p

Three masses are connected as shown in fhe Hgure on u horizontal
frictionle fi 60 N. Th ' "R :
r:;gnn ss -sTJ.rfaee and puilad by a force of 60 N, The tensions 187 T, are in

Wmmmmwmﬁ@ﬂaﬂtm%%mﬁw
T 8 W it § w7 a7, R, o w

60 N
Ia kg.;”l 12 kg% 15 keld.30°

In metre

(1) -ive x direction with amplimd‘é‘ﬂaa m ana “avelength A=0.2.m

{2) -ive x direction Wit oy | 11,

(3) +ve x direction with freaquency x Hyz and 2 =0. 2 rn
14) +ive x direction with Frequéncy 1 izg and LS Gepiy
S 39

=

P.T0)
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130,

131.

132.

(7

y =025 sin {10nx - 2xt), WE X T Y WA # ot ¢ Gwve A APl & @@ T
UGLE _

(1) woeHd x fm S 0-25 m T4 90 A =0-2 m

(2) womarE x Tom # agfe 1 Hz
{SIHWxﬁﬁﬂﬁﬂﬁﬁnHzﬁ{lﬂ]-zm

@) e x e # amgfi 1 Hz AA=0-2m

The coefficient of friction between rubber tyres and the roadway is 0-2. The
maximuim speed with which car can drive round a curve of radius 18 m without

skidding (take g =10 m/sec?)
tﬂﬁitﬂtﬁwm%ﬁmﬁﬂwmu-zéimm 18 m B % a% W

fewa afterm TR 8 g3 @ (ehf g =10 m/sec?)
(1) 36:0 km h* {2) 180 km nt' (3 216 kmh™ (4 144 km ht
The ratio of specific heat of a gas at constant pressure [0 that at constant

volume is . The change in internal energy of one mole of gas when volume
changes from V to 2V at constant pressure P is

ﬁﬂﬂﬁﬁmﬁﬂﬂmﬂﬂﬁﬂﬁﬁmwwwnﬂtﬁmmﬂ#
VQQFW%,?ﬂlﬂﬁﬁﬂaﬂmﬁﬁiﬁﬁ%EﬁPﬁqﬂﬁ?hm
il

. 2 B 4
@) {y-1) 2’ A (v-1) 2 (y-1

The quantities of heat required to raise the temperatures of two copper spheres
of Tadii r, and 73 {ry, =1:371) through 1 K are in the ratio of

aﬁﬁ%aﬁaﬁ-ﬁwﬁwrlamrﬂlrl=1.5r2]$rﬂrq1Ka'c.rﬁ${%mrgﬁ
T & T AW

(1) (?_B (2) G)— (3) (%] @ 1

40
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134.

138.

(17)

17U/102/25 Set No. 1

A hollow pipe of length 0-8 m is closed at one end. At its open end a 05 m long
uniform string is vibrating in its second harmonic and it resonates with the
fundamental frequency of the string. If the tension in the wire is 50 N and the
speed of sound is 320 m/sec, the mass of the string is

Eﬁ&m@mwwﬁ&ﬁm%lﬁéﬁ#nﬁmmwmmﬁ

efie el 3 fem & ol T e ¥ W ¥ 7w ol & AR e d o
50 N au @ it 7fd 320 m/sec ®, W = s g

(1) 5g @ 10g (3) 20¢ (4] 40 g

If his the height of capillary rise and r be the radius of the capillary tube, then
which one of the following relations, will be_correct?

{1} hr = constant (2) h/r? = constant

{3) hr? = constant (4} k/r = constant
TR b wRm S e AR TR G, D AR Y e

(1) hr= FO0% (%) ic® = PORIH (3) he? = PREIS @) Ay = B

Thc Im"el .Qj, I '__ 5 lﬁ Sm hlgh A _Doie o Ce 8
the bottom of the tank. The rate of 15%1
g =10 m/sec?)

| agie.olazea 10 cm? is made in
sakage of watcr from the hole ig {take

oF it * sl wr wm é-mﬂﬁnél qm'-i;éa 10 ¢m? %ﬁmﬁwmiﬁ
LRI IR TR AR L (¥R p= 10 m/gec?) e

(1) 107%m?® fswe fnriﬂﬂ-m?_@ (3) 107* m® jgeg 4 Iﬂafna,’sec

4]
PTo,
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136.

137.

Two metal wires of identical dimensions are connected in series. If o, and o, are
the conductivities of the metals respectively, the effective conductivity of the
combination is
ﬁmﬁfﬂﬁtﬁﬂq@%mmﬁﬁﬂﬁﬂﬁ%ﬁ%lﬂﬁniﬂmﬁgmﬂ$
Tl B, @ 8 GENA & U gieieal 39 BRI ?

20,0,
(o) +0,)

0 {oi+0s) (@) [ﬂz—"} @) Jo02 )

Two plane mirrors M, and M, are arranged at right angles to each other as
shown in the figurcs below, A ray of light is incident on the horizontal mirror at

an angle §. For what value of 8 the ray emerges parallel to the incoming ray after

reflocction (rum the wvertical mirrar?
M, v ./ e
0

%
My

(1) 60° 2) 30° 3) 45° (@) All of them

ﬁmﬁmmlammzﬁmﬁw@ﬂwmﬁﬁmﬁﬁm%ﬁﬁm
ﬁnm‘a?ﬁaaﬁwu.utmﬁmila%ﬁmqﬂﬁaﬁmma&mﬁmﬁm
s B 3w wit?

z
ML
K

(1) 60° (2) 30° (3) 45° (@) 3w @

42
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1440.

(17)
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The power of a water pump is 2 kW. If g =10 m/sec?, the amount of water it can
reise in one minute to a height of 10 m is

AT T R AT 2 kW R AR g=10 mysec? R, M @ 1 B & 10 m
3= w R oS3 9 27

(I} 2000 hitres  (2) 1000 litres (3} 100 litres (4] 1200 litres

A ring of radius R e¢srries a charge Q, unifermly distributed along its
circumference. What is the ratio of the electric field strength at a distance R to

that at a distance X along the axis? "~ " ..

V2

W Q @ AR R Moy . 907 59 8 fwka }i dge &7 F dam

eﬂgﬂmm%ﬁmﬁgﬂﬁﬁm—%ﬂﬁm.

V3 33 33 22
ols) e efF Wl

When a current of 2 A flows in E'ﬁﬁﬁémm@-ta positive terminal, the
potential difference across it is 12 V. If a current of 3 A flowing in the opposite
direction produces a potential' difference of I8V, the em.f. of the battery is

@ At 2 AR a_mmﬁmmz,mﬁwm
WF W & 99 3w AW A 3 & o R ¥ g
T 8, o RemR 15 V35 A 2) 428 a7 Rodo Ll |

(1) 126 ¥ BLl32V = (@3 15V 4) 140V

43
' ‘ (P10,
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141,

142.

Fiﬁ‘: resistance each of 10 Q are connected as shown below. The equivalent
resistance between points X and Y is

ﬁn@ﬁﬂﬁsﬁaﬂﬂmmﬂwﬁﬂ%lﬁ@ﬁXW?%dﬁﬁnﬁﬂﬁ

10 Q
X
100 & 1082
100 31002
Yo
T 25
(L) 204 (2) 502 (3) -—3—51 (4) 102

A plane clectromagnetic wave, E, = 100 cos (6% 105+ 4x) Vm™', propagating in
a medium of dielectric constant is

T dgd Fads e # @ dy T T E, =100 cos (6x10%t+4x)Vm™
nRmR g

(1) 15 (2) 2:5 (3) 35 (4) 40

143.

(7

An equilateral triangular loop is made up of wire of uniform resistance. A
current [ enters through one of the vertices of triangle and exists from other
vertices of the triangle of side a as shown in figure below. The magnitude of

magnetic field at the centre of the equilateral triangle loop is

(4] zero
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1) g—:; 2) %“f‘: @) ——~*°’_‘;:3";I (4) T

A beam of natural light falis on a system of 5 polaroids, which are arranged in
succession such that the pass axis of each polaroid is turned through 60° with
respect to the preceding one. The fmation of the incident light intenaity that
passes through the system is

sm%mm@mmmgmmtm@ma%
S VIS 607 & WIRER GHUr amr A7 P A Bt v e v v S

1 1 1 1
| =t e i LA
1) 64 @ 32 _ 3) 256 -u[q-i 512
The power factor of the circuit as shown in the figure below jg
4 2w Ry F v W oS piw |
El. = 4() 0
. Rg“ 40 Hz
(1) 02 (2) 94 3 08 4 0g
45
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146. An NPN transistor having a.c. current gain of 50 is to be used to make an
amplifier of power gain of 300. What will be the voltage gain of the amplifier?

qa:prgﬁmmmqumumﬁqlsuﬁspomﬁﬁﬁqwasmﬁ
w fen T 3 ofRewm w1 a9 T @me

(1) 85 (2} 6 3) 4 (4} 3

147, The following network of gates is equivalent to

fA M W Yo B e W g W Am?
A%‘
Y
B
0 => =~ @ =r- (4) — >o—

148. Calculate the equivalent capacitance between points A and B of the network for
each capacitor is 2 F

Ao—u——irl-—ATn—J_—n——l --------
== To infinity

g

-
L

Bo—— 4}

() 2(1++3)F @ (AA_1F @3) W3+1)F 4) 23 -1)F

) 46
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-A
R s A R
(M vy 5 ) T I 5wy gy

() 4-17%1074 gor (2) 5x1079 gep

(B) 2:5x10°3 g f4) 3:2x107% ge

&muuufnumber f
@ Wi ] -wwq;—mm&% ¥ e F o
mmﬂm%mﬁrmam" AT Blabt 2
A-Z-12 -2 A-Z .1 4:..2..,11
(1) - f?i[z_” (3) 76 (4) o
: 47
(17)



s 1

to family
4 Lythraceac

(1} Solanaccac
f g et @1 @ #7 |
(1) B (2) Wi (3) T (@) foud
152 Percentogs af vitarmn A is h‘lghﬂl' in
(1) carrot (2) tomato (3) brinjel (4) onion
gl T A & arn e T 27
(1) TR | (2) T (3) ¥ (4) @A
153. Etawah Pilot Project Was gtarted in the yeall
v vt SR e  OE WY
(1) 1948 (2) 1950 (@) 1952 @) 1960
184. mwgratcd Rural Development Programme (IRDP} was launched in the year
FrEEn T EEOk] A {ﬂlﬁn&l}tnﬁn"ﬂn} o TF -gg?
y 1970 {2) 1975 (3) 1978 (&) 1980
48
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www,m,m%mmm

|1y ®to wWo TWo TEHMRA 2) oo T WA

3) Fo Ho TWo I () o we o

160. Regional Rural Bank in India was established in the year

wiﬁmmﬂﬂﬁmﬁaﬂmﬂﬁﬁmW?

(1y 1970 (2) 1975 (3) 1980 (4) 1985

161. Which onc of the following crops . suitable for hight soils?

(2) Wheat (3} Maize (4} Rice
ﬁmﬁfﬁﬁﬁﬁmﬂ@ﬁmﬁﬁ@%@m%?
(1) g @ (3) & (4 WS

162. Which oné of the following ¢rops is not a pulse croP in India?

(2) Qoyaboan (3) Rajmash (4} Pea

Wﬁﬁﬂ?-ﬁmmﬁmﬂmqﬁg?
(2) WA (3) T 4) "

{ the following States is the largest rice producer?

(2) West Bengal

(4) Uttar Pradesh
ﬁqﬁ@aﬁ%aﬁq—mnﬁq@mﬁ%mﬂmﬁm%?

) dem @ O g (4) I T

163. Which one ©
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Reegarch is located at
(1) Kanpur (2). Jaipur (3) Nagpur (%) New Delni
HoFodioTo ) wRely zemer TR e et 42
(1) Fg @G g @) % R
186. Which of the fﬂllowhug States culﬁvaife rice in Rabj Season algyp
(1} Odishg (2} Punjap (3) Mp (4) Up
ﬁqﬁmﬂﬁm-mmmmﬁsﬁmﬁaaﬁmt?
{1) e (2) Y (3) eqwdy (4) 3w yay
1587. Open pollination tgjeq place in
(1) paddy (2) maize (3) whegt (4) ﬁea
¥ v T By 27
(1) am (2) g, {2 T (4) my
188. Which one of the following cropy s AmpRITSSIa>
(1} paddy (2) maize - (3) wheat {4) pea
Rofafes i 3 L T - B 7
(1) um (2) muy L 18) (4) wx
189, The present Viceﬂ{:hannell_nr Jmf Ithc Centrat Agricultyral Uni"m‘sity. Imphgp,
anipur jg : -
(1) Dr. M. s, Swaminathan 12} Dr, RamBade, Singh
13) Dr. V. L. Chopra 4 Dr. M. p Singh
17) | 49

P.1.0,
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165.

166.

167,
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Phosphonis is present in DAP in the form of

(1) phosphate (2} phosphoric acid

(3} phosphaide (4} All of these
ﬁoqaﬂnﬁ'ﬁ‘mﬂmmﬁmmt?

(1) wivhe (2) e e (3) B (4} e wh

Early blight of potato is caused by

(1) fung (2) bacteria - {3) virus .., i-... {4) nematode
mﬁﬁﬁm{mw)ﬁﬁaﬁamﬁm%?

(1) = (2) Hawy (3) fermy - [4) T

Malformation disease ig Cammon in.

(1) bananga (2) mango (3) guava (4} coconut
ol (mewtim) &7 R A v s 29
(1) Fem {2) ¥m (3). 3R, 4) e

Molecular breeding helps plant Dreeders jn
(1) unpru'-rmnent 111 1 pupular vancty

Vempr
{2) developing mmplel:el}r a ncw variety

(3) developing transgentey-
(4) None of thess

ol
(P.T0)
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mﬁ%m{ﬁﬁaﬁﬁ%ﬂ)wmiﬁm"ﬂmmaﬁﬁ%?
[uehas'&ﬂﬁmﬁfﬁawﬁ - ) fega ¥ Fw =R ?
(3) Zwfw =W 8 @) T § F§ T

168. Khaira disease in rice is caused by

(1) bacteria (2) @nc deficiency
(3) boron deficiency (4) fungus

am & @ o fFe s i #7

(1) ey @ ' ) fims R w0 B
(3) A H F=h (4) 5@

' 169, Alternaria blight in mustard is caused by
(1) bacteria (2) virus (3) fungus (4) nematode

mﬂﬁmfaimrﬂ(um?rﬁmm}ﬁﬂ#mﬁm%?
(1) g R (2) oo & (3) w5 4 @) e ®
170. Food prepared by leaves are transported to all parts of the plant by

(1) xylem (2) phloem (3) parenchyma {4) phellogen
qﬁiwwwmmm&#w#ﬁﬁﬁ%qﬁi?

(1) R (srEm) (2) TR T
(3) Yo T (4) B TN

an 52
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17a.

173,

174,
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Which one of the following. is responsible for ripaning of the fruits?

{1) Ethylene (2} Ethanol -
(3) Acetic acid (4) Gibberellic acid
R % 3 e aron wr v 7
1) ¥R g (2) T
(3) i ofee (4) Pl i g
Golden rice is known for
(1) high vitamin A | 2} high protein
(3) high calcium (4) high zinc
T T (R ) e R e R
(1} ftes Refr A % forg (2) R SR R
(3) it FRvm ¥ R (4) o R & R
Mallika s a variety of o “
1) apple -~ 42) mange @) Hemi .. #) papeya
Al Reehl syt 47 o
(1) ¥= (@) s i ;3;sn§nq& 4) v &
If a gene from fisn introduced into tice, then this rice plant will pe known as
(1) mutant plase - 43). hybsid plant
(3) double haploid plant = _ {ﬂ trapsaseic plant
53
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175.

176.

177.

(17

wﬁm%ﬂ%ﬁ%ﬁﬁﬂqﬂwﬁqmﬁmaﬁ,zﬂaﬁmﬂﬁmwm?
(1) Iraiafda dre (2) " e
(3) g Rwmwe dh (4) TS g

Crop belongs to Brassica juncea is

(1} wheat (2) rice (3) mustard (4) yellow Sarson
-dt wae Fwr Fm F i A 87
(1) 1 (2) oM (3) W (4) deht T

Which one of the following Indian Scientists was the Director General of
‘International Rice Research Institute’, Philippines?

(1) Dr. B. P. Pal {2]. Dr. M. S. Swaminathan

(3) Dr. R. S. Paroda (4) Dr. R. B. Singh

Sy § @ AN Wil duPe Srdde aee i g, BEdS
ST

(1) ®io e dlo T (2) Elo Wio THo WHHTHA

(3) Fo Ao TWo TSI (4) o smo Fo 7

Mutation is generally
(1) recessive and harmful (2) dominant and harmful

(3) dominant and useful (4) recessive and useful

54



178.

179,

180.

(17)

170/102/25 Set No. 1

IfEdT #FHTQW%?

(1) Rl T JEEEE {2) ool o JETRE
(3) wolt e diefy (4) ST o T
Who is regarded as father of hybrid rice?

(1} G. J. Mendel (2) ‘i’ua.n Longping
(3) R. H. Richharia (4) G. S. Khush
FH HH GH H 96 A0 @ A7

(1} o Fo Fdm (2) Qe Sl

(3} e Wo Rerfr - " (4) e “we

Which one of the following is known as Powerhouse of the cellp
(1) Chromosome (2} Mitochondria (3) Ribosomes (4) Ch]omplggt

ﬁq%ﬁaaﬁﬂaﬂzaﬂﬂmmmmm%?

(1) TR (i) - @), FEES. Lm’ﬁh%n
@) w@rém (4) TR

Which cmé of the following is us;cd as biofertilizer?

(1} Rhizobium culture (2) Trichoderma

(3) Asola - (4} Alk ob-theas,
e & & 99 489 W % w0 4 g Al

(1) T wem (2) grewienf

(3) e | 14) F Ao

55
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181. Uracil 1s present in

(1) RNA (2) DNA (3) Both (4) None of these
Uit fred arn T 7
(1) 3TRoToTo (2) Sowolo @ gt (4) T ¥ @

182. Browning symptoms in cauliflower is due to deficiency of

(I) boron (2} iron [3) zinc (4) molybdenum
e § e weEw R 0§ g A
(1) e (2) S (3) o (4) g

183. 'PGPR’ is concerned with
(1) beneficial bacteria in plants (2) harmful bacteria in plants
(3) beneficial fungus in plants (4) harmful fungus in plants
“Profioftosme’ Frad Ted TEa 27

(1) e & FEE ST (2) dhal & FFECE Sy
3) At § arREE FEY () i § TFERE T4

184. Which one of the following can be grown suitably as an intercrop with wheat?
{1) Sugarcarné (2) Pigeon pea {3) Potato (4) Mustard
ﬁm’hﬁaﬂﬁﬁﬂﬂ{ﬁimmw (FEE) % ¥ H W W e 7

(1) (2) T @ @

56
{17)
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187,

188.
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The Indian Agricultural Research Institute is located at

(1) New Delhi () Hyderabad  (3) Bengaluru (4) Lucknow
et PR s dom w47

(1) = fgh & (2) ¥ # (3) srere (4) s i

Grasshopper belongs to Order -

(1) lepidoptera (2) Orthoptera (3) Isoptera {4) Blattodes
R foy Tt =1 ha 27 : o

(1) wfte (2) SRR oy et oyl

‘SRI’ is a method of

(1} paddy cultivation (¢) rapeseed cultivation
[3) wheat cultivation (4) sugarcane cultivation
N R R 27 | |

ﬁphid is a major problem of

(1) wheat TZrsre—.  (3) pea {4} barley

TR (W) o v F o v w27

(1) % (2 B BB (3) )
.

fPT.0,
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189.

190.

191,

192.

Triticurn agestivum is the botanical name of

{1) paddy (2) maize (3) wheat (4} jowar
PhRFn oRaw fraw arwfie T /7
1) W () v @) T, (4) vom

Neelam and Dasheri are the parents of varieties

(1) Mallika and Amrapali (2) Mallika and Langra
(3] Langra and Alphonso (4) Amrapali and Langra
e il o & et ot % R €7

(1) Wl @ ST @) T T

(3) SE W HeThIH (@) HFIA T

Ashirwad is the variety of

(1} tmastard (2) sesame (3} linseed (4) groundnut
saftate R s @ R R
1) T (2) (3) e (@) e
Which crop is being used as green manuring?
(1) Sugarcane (2) Sesbania (3) Rice (4) Maize
ﬁq-ﬁamﬁﬁﬁ@mﬁsﬁqmaﬁm%?
(1) @) = (3) W @)

58
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197.
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Which of the micronutrient is most useful for enhancing oil content in mustard?

(1) Zinc - (2) Sulphur (3) Iron (4) Boron
ﬁﬂﬁ%ﬁ%ﬂ?—mﬁﬂﬂﬁmﬁﬁﬁﬂﬁﬂmﬂﬁﬁm%?

(1) Fors (2) TER (3) @ 4) drF
How much pemcr:t-a;gc of protein is available i wheat grains?

W % i # o A s w27

(1} 9 to 13 (2) 15 to 20 (3) 22 to 25 (4) 28 1o 30

Which one of the following crops kélps in fixing atmospheric nitrogen into soils?

(1) Maize {2) Rice (3) Rajmash (4) Sugarcane
ﬁwﬁﬁmﬁaﬁﬁﬁﬂaﬁﬂwﬁm@wﬂqwﬁm%?
(1} W& (2) 9=w (3) T (4) =

For reclamation of alkaline soil we use _
(1) gypsum (2) lime

(3) urea (4) miurate of potash
A T GOX ¥ W e i w7 -
(1) foromm (2) s (3) i (4) T 45 Gy
Range of correlation coefficient (r) jg |
(1) ~w to 4 (2) -1 10 +1 B3 0ol (9) 1192
| .

(P.TO}
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ler]miﬁw%?
(1) ~w & +w @ -18 +1 (3) 08 1 4) 1 ¥ 2

198. ‘Pusa Napha’ is a variety of which fruit?
(1) mango (2) papayda (3) guava (4} coconut
‘pn A TR H L SR R -
{1} o (2) TH (3) 3G (4) s

199. If number of treatments are 16, then what will be the treatment degree of
ficeduin?

af Rz H T 16 3, @ feiw Rt s e w1 B

(1) 13 2) 14 (3) 15 (4) 16

200. Emasculation in paddy is preferably done in

(1) night (2} noon (3) morning {4) afternoen

o B g ®1 3R W A _7

(1) T (2) AT (3) TR (4) QIR 9]
&« ok w

60 D/7(17}-2100C
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ﬁ—ﬁw@ﬁm—%wmammmmﬁmﬁmml

sle TAe MHe T W SFAS HWem, ¥R wen ¥ & Wem (gfz #¢ @) AW TE-FES T
sAiE Fo AR she e MMe WA Ho F ufafiEd 4 geferaa @ oAt AE ¥

e wafEl ® o & ey w Frites 70 WG g AR Al 9% UF sfen wEE w AT
| AT
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w7 &
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